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307 21201 A 911,000 901,780 9,220
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15,000,000 = 100H & 150,000
- o= Jlsdg 9|
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= 25,500
= 12,750
= 12,750
ole=2H & Sle=s<LH2 & &K 2,088,000 700,000 1,388,000
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oMK FE ol=2Z HHAY 2,088,000 700,000 1,388,000
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= 1,500
= 1,500
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= 300,000
= 300,000
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= 1,890
= 1,890
HESAAH (2SI A A) 64,937 62,660 2,277
olad 2 A Y| 27,320 26,483 837
ol =AY 27,320 26,483 837
101 @121 H] 27,320 26,483 837
01 2= 27,320 26,483 837
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M 2SI EL
H: HH2IAH(H2S2AAS L)
Sel: o2y (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
S EF RN
10,8413 = 21H = 10AI2t = 128 27,320
Jl= &l 37,617 36,177 1,440
Jl=dl 37,617 36,177 1,440
201 Let24d] 30,517 29,377 1,140
01 At 22l 25,303 24,163 1,140
o MRA 2H AZF £ 50,0008 * 405 2,000
o HUEAI BF 2 3,592
-Eg o dMAEE 300,000& = 43| 1,200
- EY 598,000& * 43| 2,392
o HOIMdEZEH EW 250,0008 * 7CH = 23 3,500
o MYJIS& 7 700& * 3001 * 123 252
o SAMEXN 7L 25,0003 = 622 + 128 1,800
o HIFEE 7Y 150& = 3,0000H 450
SELEE: 4,152
RN 18,000& = 7% = 128 1,512
- XX 10,0003 = 222 » 12& 2,640
o FHE B X JIEES
300,000& = 2X « 23| 1,200
o XEEHIIZAM =2 50,0008 * 23 = 20H 200
o YA G 60,000& * 115 6,900
o M4 ZIEEI XS
34,900 = 128 = 304 1,257
02 23=24gHl 5,214 5,214 0
o 4Gt E A= 1,200& = 50E ~ 12& 720
o RERS 314
- gdpteH 3803 = 40A4 « 123 183
-sllsH 2,180 = 521 = 12& 131
o BENEREE=S 40,000& * 23l 80
o otk SE=87 UE FFH
1,400& * 1,500£ 2,100
o o= =7 IFE mA2el
2,000,000& = 1CH 2,000
203 YR =T b 7,100 6,800 300
02 33 H 2= 1,640 1,520 120
o HJA ADIIEE A 40,0003 = 414 1,640
04 NI 5,460 5,280 180
o 300 =1t
(400,000& + (5,000& = 11¥)) * 12€ 5,460
Neas(aesdelagl) 39,291 0 39,291
WEHHX = 39,291 0 39,291
HEHH X = 39,291 0 39,291
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2N 22
(

M oS

S WEAHAHX = (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
701 JIEtSI HSEES 39,291 0 39,291
01 JIEtel HE &= 39,291 0 39,291
o AT AMNIELEIN &3 39,291,000& 39,291
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